Potencias de 10

@)

1.8483 + 10!

6.657 10!

5.0328 + 10!

4.7373 + 10!

8.6138 10!

8.2097 = 10!

8.8793 10!

4.9012 = 10!

6.5142 = 10!

6.2736 10!

Calcule los siguientes cocientes.

2.3589 + 10!

9.5365 = 10!

4.5965 + 10!

6.6405 + 10!

4.1288 = 10!

9.2892 + 10!

3.4443 10!

9.4636 = 10!

4.7858 + 10!

7.9049 + 10!
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Potencias de 10 (I) Respuestas

1.8483 = 10!
0.18483
6.657 + 10!
0.6657
5.0328 ~ 10!
0.50328
4.7373 =+ 10!
0.47373
8.6138 — 10!
0.86138
8.2097 10!
0.82097
8.8793 — 10!
0.88793
4.9012 = 10"
0.49012
6.5142 = 10!
0.65142
6.2736 10!
0.62736

Calcule los siguientes cocientes.

2.3589 10!
0.23589
9.5365 = 10!
0.95365
4.5965 + 10!
0.45965
6.6405 = 10!
0.66405
4.1288 + 10!
0.41288
9.2892 + 10!
0.92892
3.4443 10!
0.34443
9.4636 + 10!
0.94636
4.7858 + 10!
0.47858
7.9049 = 10!
0.79049
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